K- - dynabook

PARTS LIST

Model Name:
SKUNOo [Short]:

N0 A WON =

N NN o000 o0 oo ugogogooogoaoanddDhDdD S BASDBDSDDDBSEDBASQOWWWWWWWOWWNDNDNDNDNDNDNDNDNDNDDNNDN=2 22 2 QO a A a a0
W N =200 0~NO”UITaPrWN-=20O©0~NOGOAOPRPRW®N-_20 00N DON-=200CONOOATPARWOWN-=20O©0NGPIPR®N-_20 00N D»WCN-=O

SegNo

LocNo
01-B
01-B
03-C
05-D
05-D
07
07
07
08-A
09-B
09-B
10
10
12
13-A
13-A
15
16
17
17
19-A
19
23
24
24
25
25
27
28
28
29
29
30
31
88
59
34
34
37
39
40
40A
40B
42
43
44
45
46
48
50
51
54
56
60-A
60-K
60
68
74
80-A
80
80
90-B
A02
AO03
A04
A06
S01
S02
S04
S05
S06
S07
S09

Tecra A50-J
PML10E, PML12E, PML15E

P000833860
P000838470
P000796710
P000823430
P000834440
P000826350
P000833310
P000826360
P000835240
P000623700
P000791700
P000834200
P000834210
P000816110
P000824260
P000834390
P000834220
P000835010
P000835020
P000837760
P000834730
P000834720
P000835030
P000835040
P000835050
P000834280
P000834290
P000833920
P000835080
P000835070
P000835220
P000835210
P000833930
P000833940
P000835090
P000835100
P000835110
P000835120
P000835130
P000833680
P000833950
P000835140
P000835150
P000833970
P000833980
P000835160
P000824630
P000530560
P000834000
P000834010
P000834020
P000834030
P000833650
P000835400
P000836930
P000835390
P000504250
P000817910
P000835830
P000838480
P000833870
P000523000
P000777750
P000834050
P000772100
P000834060
P000824170
P000769570
P000729980
P000824750
P000824190
P000794070
P000834380

PN

PCB

LCD
SSD
SSD
MEM
MEM
MEM
ADP
ACC
ACC
LIB
LIB
COoM
CcCOoM
CcoM
FAN
ETC
SPK
SPK
TP
TP
ANT
HAR
HAR
HAR
HAR
cus
HAR
HAR
HAR
HAR
cov
cov
HAR
HAR
HAR
HAR
HAR
ETC
cov
cov
cov
INS
cus
ETC
ETC
ETC
ETC
cov
cov
ETC
ETC
cov
cov
cov
ETC
ETC
PCB

PCB
LAB
ETC
INS
INS
INS
SCR
SCR
SCR
SCR
SCR
SCR
SCR

Category

MOTHER BOARD ASSY

15.6 FHD 470 WV

SSD M.2 PCIE 256GB

SSD M.2 PCIE 256GB
MEMORY DDR4 3200 16GB
MEMORY DDR4 3200 16GB
MEMORY DDR4 3200 16GB
AC ADAPTOR 2PIN 65W
AC CODE SET 2PIN

AC CODE SET 2PIN
BATTERY PACK 4CELL U30
BATTERY PACK 4CELL U30
WLAN+BT COMBO MODULE
HD CAMERA MODULE

HD CAMERA MODULE
COOLING FAN

HEAT SINK

SPEAKER ASSY

SPEAKER ASSY

CLICK PAD

CLICK PAD

WLAN MAIN/AUX ANTENNA
CLICK PAD FFC

CLICK PAD FFC

DC-IN HARNESS

DC-IN HARNESS
CUSHION LCD

BATTERY HARNESS
BATTERY HARNESS
FINGER PRINT FFC
FINGER PRINT FFC

HINGE L ASSY

HINGE R ASSY

HD/FHD LCD HARNESS
HD/FHD LCD HARNESS
SUB BOARD FFC

SUB BOARD FFC

SY-SUB FPC 50PIN
PRODUCT BADGE

BASE ASSY

BOTTOM CUSHION R
BOTTOM CUSHION F

INSU KB PLT

CUSHION LED

GASKET

GASKET

GLASS CLOTH TAPE

AL TAPE PAD

LCD COVER ASSY

LCD MASK ASSY

CAMERA PANEL

CAMERA SHUTTER

KB COVER ASSY

KB COVER ASSY

KB COVER ASSY

GASKET

NON-WOVEN CLOTH SHEET
USB BOARD ASSY

USB BOARD ASSY
CAUTION LABEL

GASKET

INSU SSD

INSULATOR SQUARE

INSU MEMORY

SCREW M2.5X2.5 THIN PAN
SCREW M2X2.5 FLAT HEAD
SCREW M2.5X5 FLAT HEAD
SCREW M2X4 FLAT HEAD
SCREW M2X3.5 THIN PAN
SCREW M2X2.3 FLAT HEAD
SCREW M2X3 FLAT HEAD

Description

A5A004730110+FMERSY2

A5A004731110+FMERLT2

Remarky



- - dynabook

DRAWING | 1




I - dynabook

DRAWING | 2




